FgArea: ['1, '2']
SS40 XX6
2025-01-11 (Day 77)




| ©
~
| <
~
| N
~
| ©
~
0\ \ L 29
©
| ©
©
— O
> >
++ |4
[{=]
T T T T T T T
o o o o o o o o
<t N o [ee) (=} < N
T 9 9
| ©
~
| <
~
| &N
~
| ©
~
ee)
©
| ©
©
—_ O
> >
++ |4
©
T T T T T T
o o o o o o o
[{=] o < [ap] N —

—&— 2 VN

70 -
0
0
40 -
30 -
20 -
10
0

1 VN

30 A
25 A
20 A
15 1

76

74

72

70

68

66

64

76

74

72

70

68

66

64

—— 2 0IR

0

0.8

0.6

0.4+

0.2+

1 0IR

——

0.8 -

0.6 -

0.4 -

0.2 A

0.0

76

74

72

70

68

66

64

76

74

72

70

68

66

64



2 VI vs Du

150 -

140 -

130

120

110 -

100

1 VI vs Du

64 -

62

60 -

58

56

54 -

52 -

50

180

160

140

DU

120

100

180

160

140

DU

120

100

- 2FR
T

4

9
.0+
0.8 -
0.6

1
1.
1

FR
T

0.7
0.6 -
0.5 -
0.4 1
0.3 -

76

74

72

70

68

66

64

76

74

72

70

68

66

64

—@— 2 setVI

120
100 -
80 -
60 -

1 setVI

—.—
T

60 -
50 -
40 -
30 -
20 -

76

74

72

70

68

66

64

76

74

72

70

68

66

64



1 (fgArea

:‘])

1700

1600 ~

1500

1400 ~

1300

1200 ~

1100

1000 ~

—@— ECI*10%

—0— ECO

60.0

62.5

65.0

67.5

70.0

72.5

75.0

77.5

9.0 A

8.5

8.0

7.5 4

7.0

6.5 1

—&— PHI*10%

—O— PHO

60.0

62.5

65.0

67.5

70.0

72.5

75.0

71.5

2 (fghArea = 2)

1
1800 4 —@— ECI*10% |
—0— ECO |
1
1
1600 :
1
1
1
1
1400 i
1
1
1
1
1200 :
1
1
1
1000 :
1
1
T T T T T T T II
60.0 62.5 65.0 67.5 70.0 72.5 75.0  771.5
]
—@— PHI*10% !
9.0 1+ —@— PHO I
1
1
1
8.5 1 1
1
1
1
8.0 A i
1
1
1
7.5 i
1
1
1
7.0 I
1
1
1
6.5 - 1
1
1
T T T T T T T II
60.0 62.5 65.0  67.5 70.0 72.5 75.0 71.5
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Trend plot forXX6 1
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